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ENGLISH

I. Read the following sentences and answer the questions that follow. Choose the
right answer and mark it.

1. ‘He said it expanded his lungs'. The antonym of ‘expand’ is
(1) Unfold (2) Contract (3) Spread (4) Loosen

2. ‘Did you get up early this morning’ 7 What part of speech is the word ‘early’ ?
(1) Adjective (2) Preposition (3) Adverb (4) Verb

3. ‘l'kept them quiet for ten minutes’. The antonym of ‘quiet’ is
(1) Noisy (2) Calm (3) Complete (4) Cry

Il. Study the bar graph given below and answer the questions. Choose the right
answer and mark it.

RUNS SCORED BY DECCAN CHARGERS IN THE LAST OVER OF A T20 MATCH
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4. Maximum runs were scored in the
(1) Second ball (2) First ball
(3) Sixth ball (4) Fourthball
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5.

6.

How many runs were scored in the fifth ball ?
(1) 6 (2) 4 (3) O (4) 2

What are the two balls in which the batsmen scored the same runs ?
(1) Firstand Second balls (2) First and Sixth balls
(3) Third and Fifth balls (4) Second and Third balls

. Identify the proper order of the following sentences and mark them. (The first and
the last sentences are in the proper order.)

7.

1. Hi, Cherry, how are you ?
Well, | play a lot of sport.

| like shuttle badminton.

H wLN

Hi, Abdul. I'm fine. You look very fit and healthy. What do you do to keep
yourself like this ?

o

What sport do you like the best ?

6. Yes|do.Igo running in the morning at least five days a week. Are you interested
in sporttoo ?

7. Doyou ever go running ?

8. Yes. | like swimming. | swim everyday without fail.
(1) 1,4,2,5,3,7,6,8 (2)1,3,4,6,2,5,7,8
(3) 1,4,5,3,7,2,6,8 (4)1,5,2,3,6,4,7,8

Who is the author of “Mother’s Day : One-Act play” ?
(1) W.R.Inge (2) J.B. Priestley
(3) ShivK. Kumar (4) Stephen Leacock

George Orwell's ‘Animal Farm'’ is marked by a profound awareness of
(1) Equality (2) Liberty
(3) Social Injustice (4) Fraternity

Course Code -5 3] _ (P.T.0.)



| K A

10. The novel ‘Animal Farm’ shows how power corrupts too.

(1) Men (2) Animals (3) Birds (4) Insects

11. “Then you can sail away be happy”. In which poem does this line appear ?
(1) Equipment (2) The Giving Tree
(3) HarvestHymn (4) Bullin the City

12. Choose the word that has the same meaning as the expression given below.,
“That which can not be conquered”.

(1) Invisible (2) Infallible (3) Inevitable (4) Invincible

13. ‘Lots of assembly-line jobs will Vanish”. The synonym of ‘Vanish’ is
(1) Disappear (2) Appear (3) Found - (4) Seen

14. |dentify the part of speech of the underlined word.
| “The search became a mania with me”

(1) Adjective (2) Noun (3) Verb (4) Conjunction
15. Identify the number of syllables in the word “around” (around)

(1) Mono (2) Di (3) Tri (4) Poly
16. Which letter is stressed in ‘Volunteer' ?

(1 v (2) L 3 E 4 T
17. ldentify the silent letter in ‘subtle’.

(1) s (2) b (3) t (4) 1

18. Find the word that is different from the other words in the group with regard to the
sound of the underlined letters.

(1) Change (2) Character (3) Cheap (4) Chance

19. Identify the right word for /KJut/
(1) Coat (2) Kute (3) Cute (4) Cote

20. Supply the missing letters to complete the spelling of the word “Anc — _ tral’.
(1) i, s (2) e, s @) us (4) s, e
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IV. Fill in the blanks with suitable answer.

21. After working so hard he didn’t deserve to fail in the exam,

(1) doesn'the? (2) Didhe? (3) Don'the ? (4) Ishe?
22. Yesterday at this time all of us (watch) the cricket match.

(1) watched (2) are watching (3) hadwatched (4) were watching
23. The objectis to prevent him failing.

(1) for (2) from (3) in (4) at
24. The rose is prettier than flower.

(1) Noother (2) Anyother (3) More other (4) Most other
25. You must cure me this horribie iliness.

(1) of (2) at (3} in (4) for
26. Eachofthe boys given a chocolate.

(1) were (2) was (3) has (4) have
27. There was a man was very greedy.

(1) which (2) when (3) who (4) why
28. injured were immediately taken to the hospital.

(1) A (2) An (3) The (4) No article

29. Mark the part of the sentence that has an error.

Sunanda was wearing a pink pretty saree.
1 ' 2 3
(1) 1 (2) 3 ' (3) Noerror (4) 2

30. The teacher will come when the bell
(1) Rings (2) Rang (38) Ring (4) Hadrung
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31. The Twin characteristics of growth in organisms
(1) Increase in size and number (2) Increase in mass and number

(3) Increase in volume and number (4) Increase in density and number
B0 VOGO ¢y 2208 OZETE

(1) 205 BBy Sogsd® 93 (2) 85508 Sobakn Mogd” 9B
(3) 50 D0ITeTS0 1O Howg® 3 (4) Srogss sodas Soag® 5B

32. The organisms present in the gut of ruminant animals such as cows and buffaloes
are responsible for the production of Methane (Bio gas) from the dung of these |

1

animals

(1) Halophiles \ ' (2) Halophites

(3) Methanogens (4) Thermoacidophites

B, Toos eroed Krasdel eotiudho ATFoibos” SR el DGy Do (6) Sood WS
(2@rmR) &t Do dpeo.

(1) =% (2) 6"peh

(3) eJasen (4) Bt

33. The atmospheric nitrogen fixing specialised cells found in cyanobacteria

(1) Heterocysts (2) Akinetes (3) Hormogonia (4) Conidia
RS erfoab S’ TErEcmo 6 $Eud THowH Ko BN v
(1) eddiges (2) epdeven (3) SBFRaL (4) £2&aw

34. Bio-diesel producing petro-plants are

(1) Digitalis, Rawolfia (2) Jatropa, Pongamia
(3) Ocimum. Aloe (4) Neem, Datura
A S5 &8 DD S B, e

(1) Geerdd, oigrdyas (2) eseSor, Dorrdoate
(3) esdoo, wé’ (4) 0%, seror
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35. The plant, which contain chlorophyll in their roots

(1) Taeniophyllum (2) Striga (3) Rafflesia (4) Cuscuta

DBTOEB0080 DEE’ FOR &i%) ook,

(1) dosrde® (2 g (3) chare (4) e, g
36. The Naked (Achlamydeous) flowers are found in

(1) AnInflorescence (2) Verticellaster

(3) Hypanthodium | (4) Cyathium

EDE° 5% (FOIBETB) HAReo doeras.

(1) Dy dergisos (2) gnerb

(3) rpsSEéano (4) sarreabo

37. The placentation in Dianthus

(1) Free central placentation . (2) Axial placentation

(3) Parietal placentation (4) Marginal placentation
GO & eroimEoso.

(1) 2o Bogrocsrgssn (2) efon eotrgssn

(3) §)G°SOC§KJ“§5:DJ (4) &roh @0@3"5‘;@5&)

38. The fruit in grasses, such as Rice is

(1) Nut (2) Cypsela (3) Shizocarp (4) Caryopsis
50 eroed 1S ereod’ Hobn
(1) 2o Yo (2) e (8) &% (4) 535 Desson

39. The aquatic-weed plant responsible for terror of Bengal.

(1) Pistia (2) Nymphaea
(3) Waterhyacinth {4) Nelumbium
Borrd A sEeasodls Ded Fooh Dok, |

(1) 2ot (2) 2chore

(B) mEHES, /b Fabhod (4) deodabo
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40. The plant that came into India as a seed contaminant with imported wheat, has
become ubiquitous in occurence and cause pollen allergy

(1) Michelia (2) Papaver (3) Annona (4} Parthenium
PESDFo N DES Sodoorr, R HINKS o> $) B¥soder IBod HIG wel? Seok
oo 2008,
(1) 300> (2) b (3) eSv (4) 3dawo
41. Binomial nomenclature for plants was strictly followed for the first time in
(1) Historia plantarum (2) Systemanaturae
(3) Species plantarum (4) Genera plantarum
SIS 300323005, 200,05 BFTH0 TRLESE TR HYBOMT LRSBOVEID
(1) rFoasr S.gjowdo _ (2) s o
(3) pdaToerso (4) &0 Joerto

42. The coconut water is

(1) Free nuclear endosperm (2) Cellularendosperm
(3) Endosperm (4) Perisperm

)0 A - RO

(1) gomoiton Sogsy erolHhesgsse (2) Heraiow eSS
(3) oSS (4) 2BEGEs»

43. Geocarpy presentin

(1) Soyabean (2) Butea (3) Arachis (4) Indigofera
BIE" BT HORED S0
(1) dardgm  (2) arglowr (3) edS C(4) a0

44. The medicine sarsaparilla is obtained from.

(1) Seed of colchicum (2) Root of Smilax
(3) Leaves of Aloe | (4) Bulb of Scilla
FOHB0Er €90 TaE5B0, B 00d oo

(1) =&y &0 Hood (2) PR sod
(3) o sEre sood : (4) e - oo ok
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45. The sub units of 80 S’ ribosomes are
80 S’ D5 ES0E ESEBTERSeD

(1) 508,308 (2) 508,408 (3) 605408 (4) 605,308

46. Nucleoside consists of
(1) Nitrogen base only
(2) Pentose sugar + Nitrogen base
(3) Pentose sugar + phosphate
(4) Nitrogen base + Pentose sugar + phosphate

RIEAr RS’ G0t
(1) Bihesd TEB0 SFEH (2) 20650 58,8 + SiPesd T3
(3) 20e5%0 B8, + oS (4) D@ Fros + oS IS + Tines

47. Albuminous cells are presentin

(1) Phloem cells in Gymnosperms (2) Xylem cells in Gymnosperms
(3) Phloem cells in Angiosperms (4) Xylem cells in Angiosperms
@eDBRANH o0 - D36 &0k

(1) 23y Dero g Fererosons® (2) 23y Here T FmerosnS”

(3) es5y% Dero 5 Severosnd’ (4) ey Deoro ot Seseresnd’

48. The most important pollinator for Agricultural purposes is

(1) Flies (2) Mosquitoes (3) Cockroches (4) Honeybees
SEIPOT $0230¢ &SBOS” HES JE Doty SO DO, HPSOED
(1) sseo (2) &vooo (3) BSHHmHe: (4) Saedreo

49. The purpose of introducing a carbon tax system in many countries is to

(1)} Reduce green house gases (2) Cutdown CO, in atmosphere
(3) Cutdown CO in atmosphere (4) Allthe above

e BTe0 TS 509 AT ESFETIS EBIHBRD, e DB 0D

(1) AS 7R TrebopHeiss Bhoise (2) CO,omTomstenod Bhoe

(3) COmmasens shota (4) 253
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50.

51.

52.

The lungs of the world are

(1) Plants (2) Planktons (3) Human beings (4) land2
BR0B0 ), &e0a8ms e w870
(1) Do (2) Symssseeo (3) Sossen (4) 1 20802
For a solution at a atmospheric pressure water potential is to solute
potential.
(1) more (2) equal (3) lesser (4) zero
B8 TEH0ED SR ¢ 2.8 @08 DedeEo, LD #5928
(1) edzsw (2) D580 (3) sy (4) ooy
The movement of substances in the phloem
(1) bi-directional (2) uni-directional
(3} upward direction (4) downward direction
2838 Severeind® DT e
(1) aoTaose  (2) Dsemiso (3) &agsomrmso (4) ef trmsoso

55.

An essential element needed for pollen germination.

(1) Boron (2) Calcium (3) Magnesium  (4) Copper
SONBENE DNETEY BDIHC5 &S SoTeLs

(1) &8 (2) =Bovo (3) ofyhoo (4) =35
The movement of ions is called .

(1) flux (2) influx (3) efflux (4) diffusion
e0IT0e VO I0LTE

(1) edodo (2) wosordasro (3) eri@mrso (4) e

Substrate concentration required to cause half the maximal reaction rate of an
enzyme.

(1) Substrate Constant (2) Menten Constant

(3) MichaelisConstant (4) Michaelis-Menten Constant
DOF50> KOG TRG D20 500 BSNGIS SO LS 9T s

(1) ey Sy Horotswn (2) 200dS Yorosn

(3) P05 oossn (4) 2P0 - 0085 Yorosw
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56.

57.

58.

59,

60.

61.

The products of light reaction.

(1) Starch (2) ATP,NADPH (3) Glucose (4) ATP,FADH,
SO W5 A, GTHOTD
(1) dodsorgsw (2) ATP,NADPH (3) ~58% (4) ATP,FADH,

For the complete oxidation of glucose to CO, and H,0, organisms adopt the cycle.
(1) Krebscycle (2) Giycolysis (3) Calvincycle (4) CAM
KPS e Sowrg esdy5se 200 CO, H,0 m 5r6y Dosmds dide #8500 Hooks

(1) @fHseansn  (2) gsv@?os (3) =S seansny  (4) CAM
The increased growth per unit time is termed

(1) Growthtime (2) Common growth

(3) Abnormal growth (4) Growth rate

2.8 (5570 TP 38R RENHEBR0 T atle )

(1) 2K sveo (2) Nrde wiorse

(3) eroe wHHEe (4) &K Bew

The enhancement of respiration rate during ripening of fruits is respiratory climactic
it is promoted by

(1) Ethylene (2) Gibberellins (3) Auxins (4) Cytokinins
Pr) 5550 DOBERNE T Gab Do DEREY ‘T 1$a gmées@ @00, HAN (OROWOSE
(1) 2583 (2) =005 (3) esdysomn (4) 253050
The agents, these are used as vectors in modern genetic engineering technique.
(1) Mesosomes (2) Genophores (3) Plasmids (4) Markers
e3¢00E F¢3E 30RV00R FoEBESS® TITTreITT GRETHHEND

(1) Dot (2) £ETdcHen (3) Tnbeo (4) st,be0
The phages, that attack E.Coli bacterium cause lysis

(1) Virulent phages (2) Temperate phages

(3) Cyanophages (4) Prophages

B+, £ erS8aihoo P @ B Sero D50 Dot Hefew

(1) 0Does pefen (2) SDosdes e

(3) HanSHeen (4) el
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62.

63.

64.

The genes which code for a pair of contrasting traits.
(1) Factors (2) Dominant factors

(3) Recessive factors (4) Alleles
2.5 2385 DO 0FeTeH Scdmrean SN axsoghen

(1) ztsrew (2) wlrgssosten

(3) ot stsves C(4) oo dseme

The mutations, that arise due to change in a single base pair of DNA.
(1) Point mutations (2) Natural mutations

(3) Artificial mutations (4) Deletion mutations
DNA &2 8.5 228 5o070 S5 05 H08ID0D EGEHB5SH5e

(1) Dok e85 (2) e atyBRse
(3) HGD asmbngses (4) 2058 &BBSYSe)

The negatively charged DNA is wrapped around the positively charged histone
octomer to form.

(1) Chromatin (2) Euchromatin

(3) Hetero chromatin (4) Nucleosome
20eS0 €y DNA 5o 8500 &) P esgmiiob S0t 106870, rdrofotiund
(1) Esre3s . (2) oSS

(3) Srest €%5re35 | i (4) srgardPamn

[Lac operon model proposed by

(1) Jacoband Monéd (2) Har Gobind Khorana
(3) Watson and Crick (4) Hershey and Chase
&8 2,008 SHTTR0 PETODHE

(1) eged 50805 oo (2) 6 F0s Somer

(3) orenS soBoro &§ (4) b S0t Bef
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66.

67.

68.

69.

70.

A fragment of single stranded DNA/RNA, which is tagged with a radio-active
molecule is

(1) Marker (2) Probe (3) Clone (4} Plasmid
BEQr oy SrTed SHO0R B 05 F: DNA/RNA podsn

(1) 35,6 (2) &5 (3) §5 (4) A&
The dynamic increase in agricultural production

(1) Food production (2) Gene revolution

(8) Cropimprovement (4) Green revolution
BETCIr e @D NEaDODBIOM D0

(1) esttied (2) emog s (3) S¥@d (4) =B D50

It is successfully helps in forensic science in the search of criminals and aiso
solving parentage disputes.

(1) r-DNA-technology | (2) DNA finger printing

(3) ELISA-test (4) Gene-therapy

?56::86;’13 BeRETD DS BOFSD Do o, g HOSOEBS $0:3,801506:6" DescbHoBBLT
SIS,

(1) r-DNA- Irogas domssdo (2) DNAorE Hoedoh

(3) ELISA - 8% (4) estog D88,

The bacteria, that grow in milk and convert it to curd.

(1) Lactobacillus (2) Bacillus (3) Cocci (4) Acetobacter
To" LOR, D DEHNT Sy O

(1) ogdhed (2) Sbed (3) &% (4) ob’ersh
B -carotene-containing rice variety

(1) Goldenrice (2) IR-8

(3) Taichung native -1 (4} Jaya variety

B - £5°3S #HAN 58 SE5w ‘

(1) 2oms 58 (2) IR-8

(3) oroSusooR 35 -1 (4) =00 - S5
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71.

72.

73.

ZOOLOGY

Corvus splendens insolens confined to

(1) India (2) Pakistan (3) Myanmar (4) Srilanka
3‘655 EQ QO&:SQ ’QS@G@S‘G S 8rﬂi’)§ H8E80
(1) erzstido (2) 8>S (3) b (4) Beoy

Match the following :

List | List I

i) Seafan A) Aplysia

i) Seapen B) Gorgonia

iii) Seamouse C) Doris

iv) Seabhare D) Pennatula

v) Sealemon E) Aphrodite
851 851l

i) 5 A) eydor

i) Has B) RERNot

i) 2535 C) &85

iv) &irb D) wampwer

V) héss E) edges

(1) i-B,ii=D,iii—E,iv-A v-C
(2) i-D,ii—-B,fi—A iv-C,v-E
(3) i-B,ii~E,ili—A, iv-—C,v-D
(4) i—E,ii-D,ii-A iv-B,v-C

Wall of the Bowman'’s capsule is an example for

(1) Simple cuboidal epithelium (2) Stratified columnar epithelium
(3) Simple squamous epithelium (4) Transitional epithelium

gT05) MODE H¢0 1§08 Te3E° BIS &rrsrdes 7

(1) S8 20D edse (2) 308 K0TS et

(3) w0V He,e &55¥ (4) HoTeens ansy
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74. Renal portal system is absent in
(1) Mammals and cyclostomes

(3) Aves and mammals

)8, ATETE D5 B o’ ot
(1) dooren $o00m PEFFS Do
(B) Dgen SoBoo domren

75. Match the following :

(2) Aves and cyclostomes
(4) Amphibians and aves

(2) B3poo Bobabs PSS Ddew
(4) ea¥oD BHore S8k H3pe

List | List I
i) Gastrin a) Inhibits gastric secretion
ii) Enterogastrin b) Secretion of water and bicarbonates
iii) Cholecystokinin ¢) HClandpepsinogen
iv) Secretin d) Release of bile juice
Eo8 T3 e BEHTIBn. .
&3 1 &3 i
) mgas a) =65 570 oo M5O
i) Doe3s’ TS b) Db SaBoie B Biyedy @t
i) SNRE PDS C) WEEOS a0 Sodakn HipSes
v} @3S d) 2500 ek

(1) i—a,ii—b,ii—c,iv~d
@) i-c ii—a,ii—d, iv-b
3) i—c,ii—d,ii—a,iv—b
(4) i—d,ii—c,iii—b,iv-a

76. The period of origin of amphibians is
(1) Jurassic period
(3) Cretaceous period
e300 oo E5DODD T°w0
(1) o2 beoné
(3) EShonD Hoané
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(2) Devonian period
(4) Tertiary period

(2) ATaanS Hoans
(4) a6 8a0E
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77.

78,

Homologous organs are

(1) Flippers of whale, wings of bat and forelimbs of horse * -
(2) Wings of butterfly, bird and bat

(3) Wings of flightless birds, vermiform appendix

(4) None of the above
QTHENT 05 e590XTe0

(1) S32ooreo Bes, MR B0 SO0 MHEo FrTgorres
(2) HoEEDeny B e, 3§ So0a Mo B e
(3) INSBED BEe B @0 B0 SFHHES® EETN Yoo

(4) PIDanr %Y

If mother is ‘AB’ and father is ‘O’ group, the probability of their children.

(1) Only ‘'O’ (2) Only ‘B’ (3) Only'A’ (4) Both‘A’and‘B’
28D 89 65 Soriro ‘AB’ Sodain 8o % Shariroe ‘O’ eonbeycnd, T84 S8R dogrio

(1) S500 Q' (2) oo ‘B’

(3) 00 ‘A’ (4) ‘A’ 2803» 'B’ doth e sxuriden

. The sequence of conduct of heart beat in a specialized cardiac musculature.

(1) AV node — SA node —s Bundle of His — Purkinje fibers
(2) Bundle of His - SA node — AV node — Purkinje fibers
(3) SAnode — Bundle of His —» AV node — Purkinj_e fibers

(4) SAnode —» AV node — Bundle of His — Purkinje fibers
Imsaod’ St oo B sotiore GaXrBed iy el go

(1) $05° e60% ey — 2T L= £ewY — wodd &P ard — JBYoL Topen
(2) 20GSedTd —» VO° P e — KPS w0 S — DY TP
(3) Ror P HNH — wo&d eh IR — KT B0 HRH — O)0R Topew

(4) 2o 80 &) — BT EBE FewY — wodd B IrD — HB)0N Topw
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80.

81.

82.

Which of the following statement is not correct :
(1) Hypertension leads to heart disease and effects vital organs such as brain and
kidney

(2) CAD is aresult of accumulation of calcium, fat, cholesterol and fibrous tissue
inside the coronary arteries and makes it's lumen narrow

(3) Smoking, diabetes and hypertension are not the risk factors for Angina and
Coronary Artery Disease (CAD)

(4) Angina pectoris is warning signal of deprivation of blood supply to the heart
muscles
54 808 T3S’ DO SO {e5Bo0eS 5 9

(1) 008 55 Fen £H03 T SooDRT, e 00500 1T DO EardBo Bxiyod

(2) 0 g 5Pao, e, FBRRS B0 Boky Serereo HEHE™ OG0 FETT AIEEese
SO0 (5500 TR 53300

(3) den oo, ii),0 6 OALO e 85 D0 BPSEen e0 DEOS - S50 (50 TEhes
(BerDBO D 0T S
(4) o0 DEBS K0S SotiTol G50 KEHTP SRS BEOLW D BRI B8

Middle ear ossicles in mammals are

(1) Sphenoid, ethmoid and incus (2) Palatine, sphenoid and malleus
(3) Malleus, Incus and stapes (4) Malleus, Incus and sphenoid
doros® Sogs; B esiyen |

(1) yorank, dhsrans oo 3050 (2) TS, Yook Bk S@ad
(3) SrDand, 508D Sodaks Jad (4) S2DADR, 3050 HodoXy ok

Which of the following statement is true explanation of Diabetes insipidus.
(1) Inability to secrete ADH leads to Diabetes Insipidus

(2) Characterized by excessive thirst

(3) Resuits in dehydration and fall in Blood pressure

(4) All of the above

521300 Te3E° GOXTrREIR ITNDEDL REAWD IS

(1) ADH @rae §5059 Gatraedd 350heEe 5908

(2) ©0F o B TRE" HYIN

(3) D08’ eI mogss SIHET, 6F DeiSo K¢ SHECD

(4) 250y DDSEen $OI0

Course Code -5 ‘ 7 | (P.T.O0.)



83. The following drug interferes with the transport of neurotransmitter Dopamine.

(1) Cocaine - (2) Heroin (3) Morphine (4) Cannabinoids

B3 $0B TIE” O BB TS0, EBAS @i $768' Ergymoard EIrH @oBTra0 ook D308 ?

(1) §%85 (2) 2rorons (3) 570y (4) =Orank,
84. Prolonged Q-T interval indicates the following in ECG

(1) Bradycardia (2) Tachycardia

(3) Hypercalcemia (4) Myocardial infarction

8¢s9¥ Q-T o556 ECG & 3D 55008908 2

(1) erdsgore (2) erfsgore

(3) Tobs@lat (4) Do s°onS 3STES
85. Blue revolution refers to

(1) Dairy industry (2) Poultry industry

(38) Fisheries (4) Agriculture

2O 550 HIF BowoPodSh :

(1) ¢ 6w (2) gnoEss (3) Do 0@ (4) gsao

86. DNA finger printing technology is useful in .
(1) Conservation of wild life (2) Pedigree analysis
(3) To establish medico-legal cases (4) Allthe above
DNA finger printing technology, 5e38 &5aiomrseos
(1) 5 erewo Sosge
(2) D03 FBosd; o 0B
(3) D55 V02008 TODHHSRD Sde DO S0
(4) Pt

87. The following is true about gene P53

(1) Produces P53 protein

(2) Itis responsible to check G, check point
(8) Tumor supressor in action

(4) Allthe above

59200 736" P53 asiogd) M50y 28 Deoid 2588 2

(1) P53 3550 &8yd 3000 (2) G, 825 docsip
(3) 5038 0ead DD adogd (4) 30>

| Coly.rse Code - 5 [18]
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88. Ureotelic animals are

(1) Fishes and Amphibians (2) Amphibians and mammals
(3) Reptiles and birds (4) Mammals and reptiles
COPBAL® AHYE BiHen

(1) Den Bo0ak Gaialb o) (2) eaiad Borey S0800 Sutres
(3) %B:Rren Soda BgHed (4) Soores 3B BB

89. Following is not related to Darwinism

(1) Struggle for existence (2) Use and disuse theory

(3) Natural selection (4) Prodigality.of preduction

38 TS (PIaresns’ 8eso

(1) soxone §%0 AForeso : (2) | €A 08000 BT DTToBo
(3) Bg@sce0 , (4) wf5%d

90. As per Hardyweingberg principle the allelic frequencies in a population will remain
constant from generation to generation under the following conditions

(1) Size of the population islarge

(2) Mating should not be random

(3) There should be evolutionary forces like natural selection

(4) Allthe members of the population should be heterogenous in age

SER00SRE BT E5°C0 ermrer &9 ol Msere FREPB0 w800 Kood $8° ST hoorr
&oterRs BE0
(1) eer 50870 DGO eoiso
(2) emrgrs™ diden Mgt BORLOBETERD
(3) ©5S 500 csomd
(4) oo oo S00RnE" DI, SO domd _
Course Code -5 [19] (P.T.0.)



91. Poultry disease Gumbaro caused due to

(1) Bacterial infection (2) Viralinfection

(3) Fungal infection (4) Parasitic infection
5G9’ Kolf'S’ D SEpHo |

(1) a)“é&oﬁ" Do (2) e Dogdon

(3) oD SoEsoes (4) 3oy eipe Do

92. The term ‘Vaccine' coined by
(1) Louis Pasteur (2) Von Richert
(3) Edward Jenner (4) Luc-Montgainer
TsG DT THIETE0 DS TP
(1) erodargd  (2) =S oRed (3) 2eih Band (4) of - 5roeS RS

93. Genetic drift is

(1) The change in the frequency of gene that occurs mere by choice
(2) The existence of deleterious gene within population

(3) The movement of alleles from one popuiation to another population
(4) None of the above

2805 ZJigé:é T

(1) atregyyson aog Frosdiged SR Sty

(2) exorard® SEETH LRSI ORI NS

(B) e emryr 2000 S0 argrsd oo DR Heso

(4) P20

94. Kiine felter's syndrome is caused due to
(1) Monosomy of 23™ pair of chromosome
(2) Trisomy of 21t pair of chromosome
(3) Trisomy of 23" pair of chromosome
(4) None of the above
84 570230 99 35 b LoiE S Hoadiged
(1) 23525 drIFn S (2) 2158272 PG
(3) 23582+ g (4) 230> 5%
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95.

97.

98.

The regional specialization of the gut, such as developmeni of Gizzard and stomach
is known as

(1) Primary induction (2) Gastrulation

(3) Organogenesis (4) Morulation

2ot C5E0S HrTrTo Frodalb giHese es550 508030 oo DG A
(1) eesmoass  (2) mypdss (3) e @S (4) srto@nd

Cockroach mouth parts are

(1) Siphoning | (2) Sponging and sucking
(3) Piercing and sucking (4) Biting and chewing

& Q0¥ Te3 e

(1) By sso (2) ool DBt Hetio ¥
(3) WO o%0 (4) Soscio $o00%w SSoedso 5%

Ammonia is first oxidized to nitrite by

(1) Nitrobacter  (2) Pseudomonas (3) Nitrosomanas (4) Thiobacillus
SRR PRI SIS E5580S erddare

(1) 2 (2) ar&arah (3) e (4) HArERS
Green house gases are

(1) CO, (2) CO (3) CH,(Methane) (4) 1and3
1S S0 TAh0He0 :

(1) CO, (2) CO (3) CH, (35)  (4) 15080003

The increase of every 10°C of temperature, the metabolic rate also increases
exponentially is '

(1) Bergmann's rule (2) VantHoff's rule

(3) Allen’srule (4) Gloger's rule

9 10°C &8 oo dod’ ol £ oo aego@ Ao, B m@a

(1) 262qerd (2) Todopard (3) 0385 arS (4) mreyord
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100. Match the following :

101.

102.

103.

List| List Il

i) Photokinesis a) Euglena

ii) Phototaxis b) Pinnotheres macculatus larva
ity Diurnal ¢) Homosapiens
iv) Nocturnal d) Earthworm
54 (308 T3 w3ttt

%1 o3 Il

() eTZIH a) oo

i1} PeTerdyd b) HT00% 578 oo
i) zavsd | C) FArenonsS,
iv) 2738 d) smams
(1) i—a,ii—b,iii—-c,iv-d (2) i-b,ii—a,ii-c,iv-d
(3) i—~d,ii—c,iii—b,iv—-a (4) i—a,ii—c,ii—-b,iv-d
The rhabiditiform larva of Ascaris lumbricoidis is infective stage to man is
(1) 1= stage rhabiditiform larva (2) 2" stage rhabiditiform larva
(3) 3" stage rhabiditiform larva (4) 4™ stage rhabiditiform larva
&5, 08 00T andGRE"D Gos¥s ¢5¥ SPHHAS oY &5F
(1) Doocsed 5% el oasto (2) Do ¥ Tl dogsso
(3) Baress 58 oeged dhogfso (4) oK 5% oged Boerso
Edaphic factors of environment is related to
(1) Temperature (2) Humidity (3) Altitude (4) Soil
$OgE08” AEHE SUSIE RoaoholRe
(1) e (2) &%
(3) Roogssody Sood S8y (4) o %0
The following is not true about flagella
(1) Long, whip like (2) Originate at anterior end normaliy
(3) Perform undulatory movement (4) Perform pendular movement
gaeeyo K8y 38 JeddpR JSes S -
(1) esorred, EEs0el Jogao (2) drroeson $0S Yromesod” GENed
(B) BooX Somrd) IFYHT (4) &of Sody BrHEraw
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104.

105.

106.

Criss-cross pattern of inheritance in sex-linked inheritance

(1) Father — Daughter — Grandson (2) Mother —» Son — Grand daughter

(3) Mother - Son — Grand son +(4) Father —» Son — Grand daughter

Dol Sirorf eosoBEsd” E5-5R (i) 5050855 5+ AR dotwod
(1) Bod —&resh — Bokon: (2) 88 >R - SooSTes

(3) 8D —HITEED — BodoSeEd (4) SBoid — DI — SoRSTED

Assertion : Leutinizing Harmone (L.H) acts on leydig cells and stimulates the

secretion of androgens.

Reason : The androgens such as testosterone inturn helps in spermatogenesis

(1) (A) and (R) are true, (R) is explained by (A)
(2) (A)and (R) are true, (R) does not explain (A)
(3) (A)is not true and (R) is true

(4) (R)is not true and (A) is true

Assertion : orgSpuoh 56,5 8GR Seroib Herdso T, wolEBS D800 HA0NE08

&S00
Reason : esoEasis doeofodisd SPRHTS DiF S5 anssd” sufabseseod
(1) (A) 20803 (R) Se2099, (R) 36 (A) £ 30608 56

(2) (A) 0001 (R) 252059, 529 (R) 538 (A) £ 366105 2588 $°65

(3) (A) 9008 D25 ASTer 5951 Sodottn (R) Deidos 256
(4) (R) 5008 Jesipsd 5¢es 52 o800k (A) esd0 it e

The sequence of ventricles and their connections in the brain

(1) Diacoel — Paracoel — Foramen of manro — optocoel — metacoel
(2) Paracoel — Foramen of manro — diacoel — lter — metacoel

(3) Diacoel — Optocoel — Iter - metacoel

(4) None of the above

RIS oeseiy §sen Tl Bags Mowotren

(1) Gardd — 765 55men — SoFoogo — §REHE — us 8%
(2) Js8%sen - wEoge — Garvd — oed — TEis FRHEw
(3) ot - SREhmn — owb — TS EHEn

(4) 3D ==

Course Code -5 [23]
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107.

108.

109.

110.

Anisotropic band in striated muscle fiber contains

(1) Actin - (2) Myosin (3) Tropomyosin (4) Troponin
BB Fols0E™) eSHEIEE 5636 3o |
(1) e85 (2) SodrdS (3) XS (4) VS
Match the following :
List | List Il
i) Colostrum a) Part of antibody that recognise antigen
i) Paratope b) Artificially acquired active immunity
iii) -Vaccination ¢) The antigenic site that binds to antibody
iv) Epitope d) 1stinstance of mother’s breast milk
2IBBEHT[D
o3l & Il
) FERHS (Saogodren) a) Az HOYOV B B grio
i) Joes’S b) H@8om esQod ST etoF g
iii) &5 C) PIDI0S 0080506 DS 27No
V) ©8u58 dcdso d) S8R 950 T 5T e
(1) i—d,ii—c,iii—b,iv—a (2) i-b,ii—c,ii—d,iv-a
(3) i—d,ii—a,iii—-b,iv—-c (4) i—d,ii—c,iii—a,iv—>b

Somatostatin is

(1) ltis produced by hypothalamus

(2) Itinhibits the release of growth harmone from pitutary

(3) Itreaches anterior pitutary through a hypophyseal portal system
(4) All of the above

RreTpedS 00 KrayS DS

(1) rrened Sod &dydsodod

(2) 26235600 (0B 5008 XS 65 0BG AE BR300

(3) 3D TAPRANS VTGS DL TRT® FEHY DL (TN BT

(4) B0

Which is the terminal stage in respect of pathogenicity of Wuchararia bancrofti to
human being

(1) Lymphangitis (2) Lymphadenitis (3) Lymphedema (4) Elephantiasis
&80T eroERS” e08r00s" SR TYH
(1) Bopsaess (2) ordpesd (3) Oodfesdiar (4) ool
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CHEMISTRY

111. The total number of orbitals associated with the principal quantum numbern=4is
B Ths0e0 dopg N = 4 & dity oo esgerdo dops
(1) 9 (2) 5 (3) 16 (4) 8

112. The correct order of electronegativity of O, S and Cl is
O, § 5080w Clo Sreadiogre e HO0PR Ekoo
(1) O<S<Cl (2) Cl<S<O
(38) S<0<Cl , (4) S<Cl<O

113. Which is the weakest base ?
308 36" LirSANN Fro D6 2

(1) Ce(CH), (2) Pr(OH), (3) Sm(OH), (4) Lu(OH),

114. Which of the following molecules has T-Shape ?
Eol 735 D wros T-es5)8 s> 2

(1) XeO, (@ CIF, (3) PF, (4) NF

3

115. Among B,, C,, N, and O, molecules, which are paramagnetic ?
B,, C,. N, 38050 O, 0ruos’ Forechy,of o SORSD D 2

(1) C, O, () B, N, (3) N, O, (4) B, O,
116. Kinetic energy of 5 moles of nitrogen at 27°C is

27°C 5¢5 5 2o peSess oo (e 53

(1) 18.71kJ (2) 9.35kd- (3) 37.42kJ (4) 4.67 kJ

117. Which of the following species do not undergo disproportionation reaction ?
300 S DB @SB 98 BB ?

(1) CiO™ (2) ClO, (3) CIO, (4) ClO,
Course Code -5 [25] (P.T.O.)
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118.

119.

120.

The number of hydroxyl ions (OH) in the balanced equation of

M,O%(aq) +1"(aq) — M0, (s) +1,(s) is

(1) 4, right (2) 4, left (3) 8, right (4) 8, left

M,O3 (&) 4 1~ (20) = MO, (30) + 5 (8) (50) e S%eTR) oo THKHED, Boog Aose0s”
20D 2PE§HS eaxrS (OH) o Sowg

(1) 4,288 (2) 4, 25500 (3) - 8,48 (4) 8, ds0%

Which of the following processes is associated with increase in entropy ?

A) Melting of ice

B) Freezing of water
C) CaCOj;(s) — CaO(s)+CO,(g)

D) Ha(g) - 2H(9)
08 PG’ BR oS o8 ?

A) Sooo 85K&0

B) % sodeoteso

C) CaCOg(3) — CaO ()+CO, (=)

D) Hx (&) - 2H(=)

(1) AC (2) B,C,D (3) A/B,D 4 ACD

Equilibrium constant for the reaction

N,(g) + O,(g) = 2 NO (g) at 800 K is 0.25. What is the equilibrium constant for the

reaction ?

1 1
NO(g) = EN2(9)+§02(9) at the same temperature

Ny (3°) + O3 (z) = 2NO (7) &3 565 800 K 5¢ 5502 307050 0.25. &8 esfiesds 3¢

1 1
NO (=)= 3 N (=) + —2-02 () &6 S8 ST Yoroso Jow ?

(1) 4 (2 2 (3) 05 (4) 0.125

Course Code-5 [26]



121.

122.

123.

124.

125.

126.

127.

Which of the following has highest Ka value ?

(1) Formicacid (2) Acetic acid (3) Benzoicacid (4) Phenol
God ed&” B3 Ka denss Koge 2

(1) /0 (2) 2oedswivo (3) Bosowsido  (4) S
Permanent hardness of water is due to the presence of salt.
~e3E T SOTGR) oot 0560

(1) Mg(HCO,), (2) MgSO, (3) Ca(HCO,), (4) Na,CQO,
Weight of 5 carat diamond is

5 o8eSe Sieso 20859

(1) 5Ckg (2) 100mg (3) 1000 mg (4) 500mg

The decreasing order of hydration enthalpies of alkaline earth metal ions is
FO 509 8% evairSe WrGHs Jormdes SR o

(1) Be* > Mg* > Ca* > Sr*? (2) Be?*>'Ca® > Mg > Sr#

(3) Sr**> Ca? > Mg* > Be* (4) Sr* > Be?* > Mg® > Ca*

BOD values of four water samples are given. Which is highly polluted ?
g 263 s0rre BOD deoden koD 08 IS SeohBAose ?

(1) 100ppm (2) 75ppm (3) 50ppm (4) 5ppm

In which of the following compounds sp hybridised carbon is not present ?
18008 F35achiS O ohsos” S P HosTEE0 S TS Bt ¢

(1) H,C=C=CH, ~ (2) HC=N

(3) HC=CH (4 HC=0

Which of the following compound is not aromatic ?
300 7°38" 2657638 Fdoghso B 0B 9

0 I @ ||
@ ) w )
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128. Which of the foliowing is a pair of metamers ?
o8 36" DoerRobo 2306 DO 2

(1) CH,CH,OH, CH,CH,OCH,

(2) CH,COOH, CH,COOCH,

(3) H,CCH,NHCH,CH,, H.CNH CH, CH, CH,
(4) CH,CH,NH,, CH,NH CH,

129. Which of the following is more stable carbocation ?

200 T3S 508 HEPN TERCTS 20 ?

(1) 6(CH3)3 (2) Hé(CHs)z (3) H2(+ZCH3 (4) (+3H3
130. Which of the following is an example of electrophilic addition reaction ?

o 736" aegjmé DL B GIrCEd 20 ?

(1) CHg + CH,CIAICI, — CH.CH, + HCI + AICI,

(2) H,C=CH,+ Br, - CH,BrCH_Br

(3) H,CCH,Br+ KOH(alc) — H,C = CH, + KBr+H,0O

(4) H,CCH,Br+ KOH (aq) - H,CCH,OH + KBr

131. Carbon and hydrogen in an organic compound are detected as

2.5 5% S%08"0 2GS $r8ae IpE s 7w FOBI0.
(1) CaCO,, CuSO,.5H,0 | (2) Ca{HCO,),, CuSO,.5H,0
(3) CaCO,, Cu(OH), (4) Ca(HCO,),, Ca(OH),

132. Which of the following is a Bragg equation ?
308 T3’ rh D80 DO 9

(1) d=nA/2sin0 (2) niA=dsin® (3) d=A/nsind (4) d=2A/sin®

133. Aqueous solutions of which one of the following has highest boiling point ?
(1) 0.1Mglucose (2) 0.1Msucrose (3) 0.1MNaCl (4) 0.1 MAL(SO,),
8065 R D Boio wOEHETOS DR ePipEs J0 &0e006 ?
(1) 0.1M~rs%  (2) 0.1M=E¥  (3) 0.1MNaCl  (4) 0.1 MAIL(SO,)

Course Code -5 [28]



134.

135.

136.

137.

138.

139.

A solution of CuSQ, is electrolysed for 965 seconds with a current of 1 amperes.
What is the mass of copper deposited at the cathode ?

CuSO, e 1 esobahb $006208" 96505068 Dm0 IeH5AERSE DY 6 6 5¢§ AgH5og 5706

g0t 9 .

(1) 3.15¢g {2) 0.315¢g (3) 6.30g (4) 0.63g
Rate constant of a reaction is 2.3 x10-5 L mol-'s™'. What is its order ?
2.8 15055 Beoo Horogo 2.3 x107° O 7 w0l &3 15075 ENTO%0 Do 7

(1) 0 (2) 1 3 2 (4) 3
Which is an emulsion ?

(1) Froth (2) Smoke (3) Cheese (4} Milk
08 Te36° 5093 26 9

(1) oux (2) 2 (3) 3% (4) e
Which of the following is an example of roasting ?

300 336" D 40 e HEADLH ST 9

(1) ZnCO5 — ZnO +CO,

(2) FeO+SiO, —FeSiO,

(3) 2Cu,S+30, —2Cu,0+2S0,

(4) ALO, +2NaOH+3H,0 — 2Na[Al(CH), ]

Which of the following is the correct order of boiling points ?

EFRPETSES 0L BowORONS SO E500 D6 ? - |
(1). NH, < PH, < AsH, < SbH, (2) NH, <PH, > AsH, > SbH,
(3) NH, > PH, < AsH, > SbH, (4) NH, > PH, > AsH, > SbH,

Chlorine reacts with Na,S,0, aqueous solution to form Na,SO,, HC! and *X*. Which
one of the following is X ?

§£%65Na,8,0,, sogisecs 55Toa Na,S0,, HCloff s X' 5 Moo 2067365 X b6 2
(1) SO, 2 SO, (3) HS 4) S

Course Code -5 [29] (P.T.0))
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140.

141.

142.

143.

144.

145.

Hydrolysis of XeF gives a compound of Xe in addition to HF. What is formula of
the compound ?

XeF,x eo D800 Dy HF & S0 265)% Xe Sdopito reer 2oed 2
(1) XeO, (2) XeQ, (3) XeOF, (4) XeOF,

A magnetic moment of 1.73 BM will be shown by one among the following :
206 736" D Bdio 1.73 BM esaihoa, o8 @rsos) Sriged ?

(1) [Ni(CO),] (2) TiCl, (3) [Cu(NH,),* (4) [Ni(CN),]*

Electronic configuration of a lanthanide ion Ln2* is 48, The lanthanide is
2g rogps ealrs LN dogrs 2t 4%, & eroiidl Sureso 08 2

(1) Sm (2) Eu (3) Gd (4Y Pm

How many moles of AgCl is precipitated when aqueous solution of one mole of
CoCl,.4 NH, is treated with excess of AGNO, ?

253768 CoCl .4 NH, 2o 0308 08 AQNO, & 3565 o800t esgnonet Al 3rde
Nogy JoB 7 '

(1) 0 (2) 1 (8) 2 (4) 3

Which is the monome'r of neoprene in the following ?
208 T3 IATHS Do, DT 9B 2

(1) H,C=CH-CH=CH, (2) HZC:CI)—CH=CHZ
CH3 '
(3) H,C =(|3—CH =CH, : (4) HC=CH-C.H,
Ct
Which is an artificial sweetner ?
(1) . Sedium benzoate (2) Tartaric acid
(3) ~Aspartame (4) Ranitidine
o T3E” B0 S50 DB 7
(1) Fdavo Boscdes (2) ergbso
(3) e (4) oae3ds
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146.

147.

148.

149,

Which of the following is highly reactive towards SN’ reaction ?
SN Sorgson™ exthsosh 0780 Ko S50 28 2

(1) CH,Br (2) C,H,CI (3) CH,CH,Cl  (4) (H,C),CBr

Which one of the following reactions is not correct ?
800 SRS’ DO OGP 5% 2

(1) H,CCH, OH—CY/573K i c_cH,

(2) HsC CH=CHGCH, OH—PCC ,H.C CH=CHCHO

+
1) CrO,Cl, /CS,, 2)H,0

(3) HgCq — CHy >CgHs — CHO

(4) CoH (CO+HCI)/anhyd.Alc‘:Iar ,CgHs CHO

The transformation RCOOH — RCH,OH can be achieved by — reagent.
RCOOH — RCH,OH &3 58533 — 526808’ rdoissisy
(1) Zn.Hg/HCI (2) LiAIH, (3) Pd/BaSO, (4) NaBH,

Arrange the following amines in increasing order of their basicity.
2065 3OS D00 FEE50 BR 300 OB ?
NH,(1), C,H.NH, (2), C,H, NH, (3), (C,H,), NH (4)

(1) 1<2<3<4 (2) 2<3<4<1 (3) 3<1<2<4 (4) 1<3<4<?2

150.

What is B in the following reaction ?
806 565" B Dn0el 2

H.O*
CeHsN,CI—SUCN/KCN o~ T3~ g

(1) CH.CN (2) C,H,CH,COOH
(3) C,HNH, | (4) C,H.COOH

CourseCode -5 [31]
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